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-
HHZ| 2 W AN WE(MID)
I-1-1 TRl : ZA(2A - Z{IE), OISI(I|O|RIRIH)
o E 012

s = R 7 Eiwm eZieE HIOIH|
i W A Gx Okt =4

E A 1429826 1136665 79.5 1.360.405 1,002,380 278.825| 79.200/ 10,317

7 2476] 21294 947 23305 22074 1,09 136 1

A 7 270 %1 9.7 321 234 83 4 1

] 204 19| 96.1 245 187 54 4 1

At |IORALSY 5 5/ 100.0 5 - 5 - -

EEE % 27| 103.8 27 2% 3 - -

7L| ZEf. AL 2 1 50.0 9 5 4 - -

20 RAL - HEE % 24 9.0 % 12 14 - -

= Q- 9l - ZE} . ALl - -| - - - - - -

ETpH(REAMOIS) 3 3/ 100.0 4 4 - - -

O SITHAHH(OFS BICHALSH) 5 5/ 100.0 5 2 3 - -

A A 388 380 979 1 348 63 10 -

A A0 343 33 98.0 364 308 46 10 -

QI | HopAsah 3 3/ 100.0 4 2 2 - -

B RE="N % 25 100.0 % 20 5 - -

> |5 - S0 1 11 100.0 1 - 1 - -

= | RIAHAL - HEE 16 15 938 27 18 9 - -

9| - 9 - Zet- S0l - -l - - - - - -

A 7 49 487 984 766 654 100 12 =

bl 86 86| 100.0 83 7 1 1 -

U 61 60 98.4 65 52 13 - -

L, 5= 169 164|  97.0 203 244 43 6 -

3 FESUT 2 2/ 100.0 2 2 - - -

L AGH - XA 149 146)  98.0 289 252 2 5 -

LAl - XA} 16 16/ 100.0 18 17 1 - -

SHAZT(AQ1 - XIAL - Al - X1A) - - - 1 1 - - -

2z |QEE - - - - - - - -

Azt 8 9 1125 i 1 - - -

(Eg=- Q1A - AN UE(ME) - - - - - - - -

E71(ZT) 2 2| 100.0 2 2 - - -

= ET1H(ZAboRHH) 2 2/ 100.0 2 2 - - -

RPN 7 5,263 4981 946 5,69 5,580 78 37 =

Uzt 2,166 2032 938 2172 2,131 31 10 -

AZHAS) - - - - - - - -

Uzt 1,048 997| 951 1,09 1,089 7 3 -

RS N - -l - - - - - -

LRSI - XA 283 274 9.8 205 290 3 2 -

7ROl - XA} 1 1/ 100.0 1 1 - - -

B | D[HERZES (AR 3% 33 917 49 46 2 1 -

|| HRARRE S 2% 23 9.8 30 29 1 - -

ZIETH o527t 143 138]  96.5 144 143 1 - -

HOHRIOfCHERAZH - 7t 309 283 91.6 332 323 6 3 -

HAHO|CHERZE - 7t 492 469 9.3 524 508 14 2 -

2t | ORI [ZZ 384 368 9.8 477 470 2 5 -

13MID[D0[AERIZZE - 7S 73 70 9.9 80 77 1 2 -

E4UHE) 166 159 95.8 342 328 8 6 -

ZEIRIYz 9% 92| 9.8 101 97 2 2 =

Hezzt 1 1/ 100.0 1 1 - - -

EAZE 7 12 12| 100.0 12 12 - - -

OSSITHAMHHREAEAT - 2H2) - - - - - - -

16M|D|2I0LS - HAEZES 30 2 9.7 3 3 - 1 -

A A 814 783 9.2 843 818 2 3 -

QAR 396 380 9.0 41 398 1 2 -

SAZHN) - - - - e

T EQARIT 164 156 95.1 163 159 4 - -

TLARLZHALS) 1 11 100.0 1 1 - - -

Ab | QARSI - XA 14 14| 100.0 16 15 1 - -

N A SN - - - - - - -

2 | OJAERIOIHIQARZE 15 16| 106.7 19 18 1 - =

[SINPRLIS] 208 200/ 96.2 217 211 5 1 -

7t FERIQARYZ 16 16/ 100.0 16 16 - - -

HERARYZE - - - - - - - -

ELZTQARZT - - - - - - - -

OFSSITHMHHALHAERAIATE - - - - - - - -
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I-1-1 THO| s A(LM - ZHAHRHE), QI(T]RFE)
= it ZH7401
- PR wy oy G SAE oI
= e A = Oxt =&
A A 13,962  13215| 946/ 14,030 13,389 575 66 -
ZHE=s 9,550 9,117, %5 9,695 9,173 482 40 -
LHES(AE) 20 20/ 100.0 18 18 - - -
Ay B 684 669 97.8 715 698 14 3 -
EUMEES(ALE) - - - - - - - -
LRIt - XA 131 129 985 138 134 4 - -
ZHIEHAO! - KAt - - - - - - - -
| M=oY 369 359 97.3 373 369 4 = -
RIEA| Of oS RIES 300 286 95.3 303 299 4 - -
M| ziofIol| SRS - S5 321 305/ 95.0 335 320 14 1 -
| HAEO SR RIS - 841 814 96.8 869 837 28 4 -
= | 0|5 ER =&AL 024K} 8 8| 100.0 8 7 1 - -
L kS 2NN [PAVN = 39 35 89.7 38 37 1 - -
A 130|020 AR RS - S5 677 631 93.2 652 623 17 12 -
SEURIEA Ml 816 641 78.6 648 638 4 6 -
EAZIHIE(F) 36 3B 972 69 67 2 - -
RIS 145 141 97.2 145 145 - - -
HC UM 2 2| 100.0 2 2 - -
E A ZiR|sH 2 2 100.0 1 1 - -
OFsSITHAL I AEZRES - F3) - - - - - - -
16A0[2t0LS - HaESH 21 211 100.0 21 21 - - -
IES A 233 238] 1000 276 268 5 3 -
E} | ZZISAH - XA 104 103/ 99.0 19 14 2 3 -
ZLSAR1 - XAt 3 3 100.0 3 3 - - -
4 EEAO LTS - - - - - - - -
2t HOHRIol[ChetEd?tsS 1 11 100.0 2 2 - -
B HAOERS 77 771 100.0 91 90 1 - -
Zt 134020 MERIAZ IS 15 15 100.0 17 17 - - -
S [RESZES IS 27 28/ 103.7 32 30 2 - -
I HEUS 1 11 100.0 1 1 - - -
A | Er2TAS 9 9] 100.0 9 9 - - -
S | SEHHZO|MHLUT|SHAIE S SO LEHIE et 1 1] 100.0 2 2 - - -
A A 1,046 949 90.7 953 783 169 1 -
st - - - - - - - -
HF - ZRUTSSHE 599 510, 95.2 580 464 116 - -
SIFNTESYSIRIY 14 13 929 1 8 3 - -
ST UTSSUSIKIAL 7 6 8.7 5 4 1 - -
gt |UHIHAZSSHS] 29 233 80.4 232 202 30 - -
AT E5} 24 21 875 2 19 3 - -
I 15 12 80.0 15 12 3 - -
e - - - - - - - -
TS AMSE(X|AL - A 7 6| 857 6 5 1 - -
3} | ZHMES IS (M) 28 28| 100.0 37 30 7 - -
TIASHE(RIL - o) 14 14| 100.0 13 11 1 -
TIASHE(TH) 1 1] 100.0 1 1 - - -
TIASSEAEYH(XIAL - A) 4 3 75.0 3 3 - - -
TIASSEAEYH(TH) 2 2/ 100.0 3 3 - - -
N 3% 35 100.0 25 21 4 - -
A 166,400] 104,013 625 87,562 62,135 24,678 749 5
H 148196|  87.672| 59.2|  69,676] 47,331 21,740 605 3
H(HB) 785 773, 985 270 218 52 - -
| ERET 9,142 8,153 89.2  13363| 10,635 2,592 136 2
c SrEEED) 23 23| 100.0 16 14 2 - -
o |ORIFEHERIEE 5,153 4509 875 2,342 2,155 180 7 -
g‘l O AU EE(ME) 109 109/ 100.0 2 21 1 - -
EHAR 802 10| 761 887 818 68 1 -
EUAE((ASE) 1 1 100.0 1 1 - - -
E71H(EE) 2,198 2163 9.4 985 942 43 - -
ETR(HAISOEZR) - - - - - - - -
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HHZ| 2 W AN WE(MID)

I-1-1 THO| s A(LM - HARIHE), QI(TQRFH)
o P ZHol

= HEAH | Il H EHO |

3 = e A 7Iil_l e Lt oxt = O A|

A 232,661 200,808| 6.3 269,443 217,260 48,866 3,317 13

A A 28453|  27.657| 97.2| 36,006 29,918/ 5979 109 -

Aol 27826  27.064| 97.3]  35337| 29379 5,849 109 -

AHE) 43 38 884 44 40 4 - -

Holi(AE) 17 16| 94.1 2 17 5 - -

S NES) - - - - - - - -

AlSHRIAL 35 33 943 38 35 3 - -

o | ELAkH 341 335 98.2 37 292 79 - -
EL&H(E) 1 1] 100.0 1 1 - - -
EEMGH(AS) 2 2/ 100.0 2 2 - - -
R Cl = ES) - - - - - - - -

5ff | ZAAOHRIAL 3 3| 100.0 3 3 - - -
E71(22A5HS) 34 34/ 100.0 44 31 13 - -
OFSSITHAH A ASAEH) 1 1 100.0 1 1 - - -
EqAlH 62 43| 69.4 50 43 9 - -
EAEHE) 5 5/ 100.0 4 4 - - -
EMal(AE) 6 6/ 100.0 6 4 2 - -
ELHGHES - EF) 77 76/ 98.7 81 66 15 - -
A A 15942] 110,202 95.1|  146,962| 117.598] 28,737 627 -
=3l 100,137| 94934 94.8)  128450| 102,185 25,702 563 -
TS AE) 89 87| 97.8 73 66 7 - -
SR |A 1,457 1,433 984 1,860 1,502 350 8 -
ZSHR|AL 35 35/ 100.0 52 42 10 - -
Eamd 7,542 7251 96.1 9,180 7483 1,644 53 -

= | B samsiay) 4 1| 25.0 2 2 - - -
EEZHRIA 91 88 9.7 135 120 15 - -
EESR A} 3 3 100.0 9 7 2 - -
ELIS 2,026 1,988 98.1 2.409 1,803 606 - -
= ELTSHE4) 87 88 101.1 9 71 23 - -

3 | EEESME) 10 10/ 100.0 9 7 2 - -
N, 29 29/ 100.0 33 25 8 - -
ZELZSHRIA 3 3| 100.0 3 3 - - -

%1 E71H(STREHS) 4,259 4179/ 98.1 4 464 4131 330 3 -
E7I(2EZMS) 85 83| 97.6 79 68 11 - -
E71H(EHA|S) 81 76| 938 106 82 24 - -
OFSSITHAHH ARG ESH) 4 4] 100.0 4 1 3 - -

E| A A 1,165 1,083/ 93.0 1,571 1,249 287 35 P)
b e = 896 819 914 1,065 860 179 26 1
HZE - US(E) 28 28| 100.0 40 36 4 - -
HE - UZHES - EF) 81 79 975 184 141 36 7 -

HHE - Z22AE - 453) 2 2/ 100.0 1 1 - - -

2 M- USRS - E - &) 133 129]  97.0 242 189 51 2 1

e LAl =t 21 2 104.8 34 20 14 - -

ZHEEFE - Z2(F) 1 1 100.0 1 - 1 -

2 | ZEHE - ZR(ES - ESD) 1 1] 100.0 3 1 2 - -
EEAE - U2(HS - 4E5S) - - - - - - - -
EEHE - UEAMNE - E5=- 4B) - - - - - - - -
EJIH(EENZ - U2S) 2 2/ 100.0 1 1 - - -
O SIHMHH L MASHE - ZF) - - - - - - - -
PN A 21,058 19,727 937| 22482  19,188] 2,992 302 1
&t 9,306 8210, 88.2 9,656 7,938 1,434 284 1
EEHES) 11,003 10,881 98.1 12,162 10,661 1,484 17 -

= | EE(AD) 14 13 929 17 12 5 - -

T HEMEES) 2 21 100.0 2 2 - - -
E&BEE 235 22| 945 26 196 30 - -
EASEES) 186 182| 978 197 169 28 - -

oy | ESEE(ME) 1 1] 100.0 1 1 - - -

T | ZASEHAEES) - - - - - - - -
E71H(STRIEE) - - - - - - - -
E71(REEHEE) 221 216| 97.7 221 209 11 1 -
OFSBITHAHH Q| ARERIE) - - - - - - - -
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—_
Mz g W A YY)
T-1-1 THO| s A(LM - ZHAHRHE), QI(T]RFE)
o iz 7ol
o = PR wy oy G & oI
A3 g A =R ORE 2

A A 240 200 917 322 27 93 2 -

o] - Q2I(014 AR 192 174, 90.6 229 152 75 2 -

oFF| - QOIS - 7t - Z2E - Fa) 39 38| 974 49 i) 7 - -

OFF - ROULSHAE| - HOi0] - HHELE - B7|XE) 6 6| 100.0 4 3?2 9 - -

QIATHOK - - - - - - - -

OIMONOH(EY - 7kS - A= - F2)) - - - - - - - -

OF | QIMDHIHS( =S 24RE - AOH0H - MRZE| - &7 |8E) - - -

F| | 220158 - K21 - QLMoHOY - - - - - - - -

- | DIFRIRE - TIQQIXt - T|OHOHRKALSH - XIAL) 2 1 50.0 2 1 1 - -

Q| LUFRL - TIQOIXL - LIOHOHAHAfSH - XIAL - - - - - - - -

Ol | IQFF[X} - MKQIR} - MIOHOHRK A4~ - 24) - - - - - - - -

ET1H(HE] - R218) - - - - - - - -

= EJMH(13MI0[2IEE - R215) 1 1] 100.0 1 - 1 - -

OF==X|H (2K OF=OHOH) - - - - - - - -

OSSITHAMHHALHAE201S) - - - - - - - -

OFSSICHREH R L ALSCHE] - Q01 - QIAITHOH) - - - - - - - -

= OFSSITHAHHRIIHARSTERIR} - TOHOHK} - TRIXY - - - - - - - -

A A 6,484 6,155 949] 21,074  16.218] 4509 347 1

ZlISHHNUSHEREHAS) 59 57| 96.6 88 83 5 - -

Z QSN HUSHERLHES) 6,178 5878/ 95.1|  20,145| 15346 4,462 337 1

B | Z | ZAHQISHENHSHEEH AT, B7IS) 58 52 89.7 166 140 23 3 -

2 | ZAMQSH LN AUSHE L AT B7IS) 3 2| 66.7 23 18 5 - -

S | ZHSHOISHHOHUSHAZS KOt - 2F) - - - - - - - -

Q| | ZHSHQISHHUNESHHEHH O IEHET|S) - - - - - - - -

%) | S | ZAAASKHLBSHHS L HHISATA - 2E) 70 67 9.7 431 429 - 2 -

I ISR DR IESHICHEC[ME - B - A5E4) 55 39 709 158 142 1 5 -

ZAGHOISKIHOHSHHE L THAISI0IR - XI9) - - - - - - - -

ZHSHRSKHO HSHAS Q| AY) 61 60, 98.4 63 60 3 - -

A 7 5,131 2362 46.0 4,445 2,456 480 1,509 -

3z 5,011 2046 448 4,160 2,219 44| 1497 -

3 | BLNE) 2 27| 103.8 39 29 4 6 -

Z | EAH(EZ) 9 10/ 111.1 44 34 10 - -

OlSSITHAMHH R AEEL) - - - - - - - -

E4gzt 85 79 929 202 174 2 6 -

JRES A 54188]  33,312| 615 36,581  30,406] 5,789 386 9

7] | S 54188|  33,312| 61.5] 36,581  30,406| 5,789 386 9

OF=SHHAMHH L A1) - - - - - - - -

A 361,107] 215471 59.7| 283,997 177,437] 53,190/ 53,370 4

x| [A A 957 346 36.2 1,149 649 161 339 8

2 XEQT| - 45l 953 345 36.2 1,143 645 161 337 8

R IE7RIERR7) 4 11 25.0 6 4 - 2 -

7| | ZHBRISKHY LSS QHNZIZRY)) - - - - - - - -

A A 875 346|395 1,872 74 18/ 1,013 2

x| = TS (H2 AR - M - Z3) 625 26| 36.2 1,507 512 99 896 2

o) [SRES - 7= 170 66 38.8 229 134 6 89 -

o | HoAAIEE 9 1 111 7 1 - 6 -

L | & 3Ly 54 37 685 69 49 9 1 -
S | © | MAUSH 1 11 100.0 1 1 - -

ETIRI(ME - 242 S2=8 - 71E39)) 16 15 93.8 59 44 4 1 -

” A A 402 361 89.8 681 548 104 29 5

= LSRR 234 22| 94.9 182 155 18 9 -

= H=EZ0S 29 2 759 169 142 18 9 -

o | S7H(ES) 18 16| 88.9 45 42 3 - -

SN RESIEIRES ) 9 9 100.0 21 19 2 - -

LI 8 40 50,0 6 6 - - -

ERMEERH 104 88 846 258 184 63 11 5

A A 376 39 104 233 55 4 174 -

£ B3z - Bx 258 2 85 146 31 1 14 -

5t S7HY(S5IIE) - - - - - - - -

7 |EFS S0 2| 118 17) 144 87 24 3 60 -
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—_
HHZ| 2 W AN WE(MID)
I-1-1 THO| s A(LM - HARIHE), QI(TQRFH)
= HIARA O
1 e TR uw oz Ay a7 oI
S 24 A = ox =
A A 10,472 77 7420 13,040 8,690 3,191 1,159 48
2 ZEMYUE - HE 1,542 1,169 75.8 2334 1,495 592 247 10
N | SR |1ZS QI - 5 78 40 513 123 73 39 1 1
CANRAMYE - B 6,914 5625 814 8,995 6,270 2,343 382 35
Q1 |AIAL |2 S AL - HHE} 1,345 477 355 1,092 480 148 464 2
| BOUSOIQIE - BEAIRLISAL 442 308 742 288 226 10 52 -
AIRISOIQIX - EHALRTIGHAL 151 132 87.4 208 146 59 3 -
[SYTIES A 63 39 619 82 59 1 12 -
=H QUISEYE - Hx 63 39 619 82 59 1 12 -
K 2E(QIX)SUE - X - - - - - - - -
A A 294,075 180,418 61.4| 231,204  140,397| 40,778| 50,029 325
X AL 269,825 170,980 63.4| 203,661  125221| 35358 43,082 277
AP|(AE) 456 429 94.1 264 221 39 4 -
A EAPI 145 120 828 224 166 50 8 -
A |(A5) - - - - - - - -
S ZABESARA | 16,652 2920/ 175 10,054 2,600 722 673 4
7| HoMERHIZ 1,255 857 68.3 1,246 992 184 70 1
L= 31 23 742 46 28 1 7 -
BEY0IS(AM5) - - - - - - - -
H EZ-(AP)) 2,073 1,717 828 4210 3,276 816 118 30
N NS, 3,638 33720 97 11,499 7,803 3,598 8 3
A A 50421 23,124| 459]  29808] 21,670/ 7,681 457 44
g |23 8,711 6,410 736 9,606 7,174 2,311 121 14
A ARNEH 4,705 4081 867 6,687 5175/ 1,424 88 2
g | HRolgEsay 36,419 12,119] 333 12,394 8,483 3,678 233 -
EZs(Ey) 586 514| 87.7 1,121 838 268 15 8
A A 3,466 3027 8713 5,928 4628 1,142 158 39
HHY 699 601 86.0 1,017 666 340 1 4
yy | LB 1,89 1642 86.6 3,428 2,700 614 114 22
BH4=XH 243 234 96.3 190 169 19 2 -
HHIZSRH 129 126 97.7 10 97 13 - 1
oy | SEH(HIY) 459 386 84.1 1,117 936 151 30 12
= EZH(+MS) 14 13 92.9 28 25 2 1 -
EZH(BMS) 2 2| 100.0 4 4 - -
EZH( QM) 24 23 9.8 34 31 3 - -
A 23360 20,139 862 30,919 26784 2777 1,358 10
A A 16,969 13988 824  15913] 13,953 764 1,19 9
s - - - - - - - -
S FUNEd = - - - - - - - -
SOIIRIZIS(SARZES) - - - - - - - -
Zoiset 2,518 2,034 80.8 2,069 1,988 37 44 -
= | N S 7 6 8.7 9 5 4 - -
= | SSISUEL(TOE, QICH TA| RIZE) 10 6/ 60.0 10 9 - 1 -
& | YRS RSN HE S SIS S (SRISRL) 793 501 63.2 763 513 57 193
2 | B | HEHHAOMHSHIS IS HEISO [REY HILS) 5,541 4916 887 5,051 4,607 261 183 -
& | || K LSO TS| (SAMHF0 |2 S24) 5,067 3,956 78.1 4,987 4144 298 545 -
AERHR|OIASOIUS ISR R M= S0 [BEMER] 534 501| 93.8 518 507 6 5 -
& 0} - BAAOMISO| RS B 0 EE A AR A EAK JRHIES) 1,628 1438 88.3 1,677 1,546 35 96
SN TS HHS 66 65/ 98.5 86 67 19 - -
AZHEOIMASOUS IS GIAFAS TR HIES) 259 1500 57.9 229 147 15 67 -
5' MEHTIOHSOIS IEHHEESS0 128 240 546 415 76.0 514 420 32 62 -
A A 6,391 6,151 9.2 15006 12831 2,013 162
=gl 3,269 3,168 969 10,744 9,118/ 1,540 86 -
g | CHiAS) 36 B3| 917 117 9%5 2 - -
B =EphE 538 481 89.4 1,725 1,351 333 4 -
& | =2HYUHE - FIS) 3 31 100.0 4 4 - -
7 |Ef=EiE | 2,545 2466/ 96.9 2416 2,263 118 35 -
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M2 2y R A HE(Y=x)

I-1-1 THO| s A(LM - ZHAHRHE), QI(T]RFE)
= g 7474012

5 = TR uw oz Ay SIIRE ol
33 g AM O ER O 2

A 40,708] 34525 848 50,953 36431 11,642] 2880 2454

A ARLZOHOl2HEHE| 17,151 16,150| 94.2) 22483 17671 4135 677 15

ARSI 1,880 1,051 5.9 1,339 886 328 125 39

[HROISELUZS0|RAIE S HUSHAS 672 53 778 1,202 836 214 152 16

QARSI USHAE 489 379 775 1,487 815 662 10 34

FRZE72 eIt 7,024 6,637 945 9,113 6,461 2,586 66 12

AT 646 325 50.3 376 299 65 12 9

E | ZMEREY 1,809 1544 854 2,598 2,213 371 14 849

ZMIE 3 11 333 6 - - 6 -

2 o=siayy 10 02| 927 298 205 89 4 10

PN 33 24 727 38 33 5 - 19

S I XEHEY 6,216 3,545 57.0 6,601 3,8%| 1,005 1670 1,004

§ 5o 80 57 7.2 118 98 18 2 29

AEH 2,301 2,158/ 938 2,540 1,230 1,280 30 78

B AENOH % 1 4.0 % 16 9 - 2

CIXRIE S 160 126 788 193 133 59 1 %

I | HEEHO2O S - - - - - - - -

%ﬂﬂ*(%l) 5 41 80.0 18 16 2 - -

= EnE=S) 3 2| 66.7 25 5 3 17 -

%ﬂﬂ*(ﬂﬂ) 193 151 78.2 31 284 % 1 139

SAHRWIHZ8E) - -l - - - - -

EAHAEBUNE) 7 6 8.7 8 7 1 - -

EZH (A =2e|=]) 2 2/ 100.0 2 1 1 - -

7 |EFARIEE| 1,899 1,727 90.9 2,172 1,386 693 93 173

A 8,088 7569 936 10,607 7,784 2722 101 16

orH - SHof2

i

| - - - - - - - -

op | DICFRRRIIBHIS(CHOn 1408 1306 928 204 1757 262 25 -
of |OiFR|olESHIE(Dr) 1,306 1,269 97.2 1,424 708 706 10 7
B DeReoaeE(eE) 539 4983 930 7,020 5301 1,78 66 9
A ojermewrropssay 8 6 750 9 8 1 - -
Sk (ate - - - - - - - -
Sote(Er) 7 5 714 10 10 - - -

A 16,93 16,229 95.8) 30,753 22,51 16852 340 363

Sa0zet 2 23 8.2 2% 18 5 2 -
SEMTRY 1,106 1,081 97.7 1,135 612 521 2 6
AZ QY 3898 3831 983 6423 2611 3780 3| 68

= ey 2310 2181 920, 4162 1745 220 127 65
RN 703 635 9.3 989 647 315 a %
7 AEoY 749 712 %7 5704 1606 9582 146 8
BUARER(RHAE) 1 1)100.0 1 - 1 - -
SRS FHOAZUKY 153 148 9.7 246 w8 1 10
HHHNSTH(RHOIONF) 3 2 667 6 6 - - 2

7 |E2 A 120 1,205 975 1,062 749 310 3 19

A 3656 3457 946 3951 3583 303 65 1,388

CH7 |22 e 1501 1481 97 1450 1,338 110 3 62

| EyEENY 13 13 100.0 2 21 1 - 9
ot ES STPElF Sy - - - - - - - -
S opmzesupRppsEs 7 5% 800 7 -4 2
7 HiEHeE 1362 1216 89 1638 1451 139 48 471
sfreraaly 22 259 9.9 291 219 A 1100
SO O SIS AR Y 4 4/ 100.0 5 5 - - -

7 e 454 48] 94.3 467 M6 42 9 184
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2 X AH d(MI)
T-1-1 CE : ZA(2hA - Z7{QIE), QIPd(] IR} RIE)
= a (o]

5 = o A7 ﬁwﬁ & 17|

S 24 A = ox =
A 308,634  300,680| 97.4| 315843 257,970/ 55889 1,984 1,091
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